R.c. T

DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the
Test: Statistics (Without Books)

Departmental Test for the Ministerial Staff
of the Department of the Economics and | 075

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QareG Ml 6UMS QTGS HTeT

Read the following instructions carefully before beginning to answer the
questions.

MeméaEé@ aloLwalssd ASTLRGD e Sp&aaIL sifiemIsmend
SEURTLONGL LG $&H6LD.

1.

This computer based Test contains 100 number of questions in objective
Type.

@hss seiefl culdd Cajeurargl, 100 QA&sTNGDH cusmswilconer elanmesamens
ClamesorL_gy.

Answer all questions. Each question carries one mark

MGG ANGESHE&GL el weall&asabd gpeuCleum( allemmeyd @
OSILGHLIGTT 2 ML WIS,

In case of doubt, English version is the Final.

oNenrdaefled FHCHHD GEuLuidr Hrfleo eaugeicd QaETESHSHOUL BeTen
efenmdHCor @muSimso .

. Words of masculine gender in these questions shall, where the context so

require, be taken to include feminine gender.

Ang ealamssaficy @L CQUDHEusTET ghem UTelladSHauflsll UMy ens sefilsd
CoemeuliLiged, &LOeV&CHEHU  Quesnr  umellewrggeuflelt  cumjHenHaHEpLd
SILRIGLD.

. Before answering the questions in CBT, candidates should read the following

instructions displayed in the monitor:

eNasmiugmiset safafl aufiy CsialnHE ol welsss ASMLRGLD
et safefluileit  Heoguicd  CHTHPILD  JADGYMIEHEMET  HEUGTLOTSHL!
Lig.&&6YLD.

a) One question will be displayed on the screen at a time.

20 Crrsded @@ allem WLECWL Smileafls Hangullsd CHTETMILD.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



The Statement, “Statistics is both a science and an art”, was given by:
“Uearell@we g ifleflud LHmib sme” ararm Fmdliueaurr

(A) RA. Fisher @ Tippet
R.A. Seyagi UL

(C) L.R. Connor (D) A.L. Bowley
L.R.grewent A.L. Quered

Who originally gave the formula for the estimation of errors?
wdrIhsalsr Gapsarear @GsSrsams Psedle) snpluier wTT?

(A) L.R. Connor (B) W.I. King
L.R. gnéest WI dm

(C) A.L. Bowley M.L. Boddington
A.L. Quered AL. Gumgri e

If the lower and upper limits of a class are 10 and 40 respectively, the mid-points of
the class is:

e 9fla; @en Geuafuller Guoer whmb &P ewamoasa peopGu 10 whmb 40 eaid
Sin@fley Gent Ceuafluller enwows wdliiy ergy 2

G 250 B) 12.5

(C)y 15.0 (D) 30.0

Which of the following 1s a one-dimensional diagram?
SetmeuheuaTeubmer ep(m LMDTET euenFULLD &g ?

M Bar diagram (B) Pie-chart
Ll enl eflarsaliib Ul L efleTéSLIuLLD
(C) Cylinder (D) A graph
2 _(HeOeT elannultb

If we plot the points of a less than type or more than type frequency distribution, the
shape of graph is

Eflar ooz Cuodlar s  Hspleeadr ureud yeareflsmer  euepuL bl
&N &EGLEUTE den @G cuamruLSHe aigaid ereneT?

\M Ogive curve (B) Scatter diagram
RENGEE CUENETEUEN T Hgmed euenTuLLD
(C) Zig-zag curve (D) Parabola
0l -80S GUENTLIL LD LIJ6U €DEITLILD
3 117/DD/24
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6. If a constant 5 1s added to each observation of a set the mean 1s:
e ydtaflelleuy Qam@uier geibeurp e muyigud 5 sl uul e, é{uqmaﬂaﬁlmq,&,
Qgm@ler srmsfl eremareumgLb ?

increased by 5 (B) decreased by 5
5 HSlEME@0 5 G@Du|D

(C) 5 times the original mean (D) not affected
5 wi ki@ 2dsfsEh LDTDTS

7. The correct relationship between A M., G.M. and H.M. is:
AM., GM., wpmb HM. g flweupdineg @t ulerer sflurar Qgm i ?

(A) AM.=GM =HM. (B) GM.>AM.>HM.
(©) HM.>GM.>AM. 7 AM.>GM >HM.
8. Extreme value have no effect on:

eflaflby wdiiysarrd Quilgb urdlésiuL Tsg ?
(A) Average M/Iedian

gyl @eL Hlena
(C) Geometric Mean (D) Harmonic Mean
Qumssd syrear Qnss Fyraf

9. The average of the 7 numbers 7, 9, 12, %, 5, 4, 11 is 9. The missing number X is:
7,9, 12, x, 5, 4, 11 arétrp 7 whiyseflen eyrafl o erefler X e whliy eremran s

(A) 13 (B) 14
&r- 15 D) 8

10. The average of 2n natural numbers from 1 to 2n is:
1 (psed 2n euenguiiewrer 2n @uwie erangsaflen gyrefl eremen 2

n+l 2n+1
(A) w—(z— ) N o 5

nin+1 n(2n+1)
(C) 5 D) —

117/DD/24 4



11.

12.

13.

14.

15.

A frequency distribution having two modes is said to be:

Qrem( WEH&ET 2 dien imaGeuein Lreudaar Geuaurm HNapssliLHEDng

A

©)

Uni-modal
@0 (sl hil ujeud
Tri-modal
(P @psl_Hits uyeud

Bi-modal

@@ wslBL ureud
(D) Without mode

wsl =00

The median of the variate values 11, 7, 6, 9, 12, 15, 19 1s:

11, 7, 6, 9, 12, 15, 19 eranp yaraflefeuys Aan@glber GenLflene ieTey eremen ?

(A)
©)

The first quartile is also known as:

9
15

(B 12

W7 11

WPS® STOLTaDd @eieury apssiiubhdng

(A)

(©)

Median
@en_flene
Mode
(E10)

\M Lower quartile

&Lp srediranld

(D) Third decile
ePETHTLD LIFleLomaLd

The suitable measure of central tendency for qualitative data is:
srworar efeurhisener (qualitative) flremulluugheE gop ewvwhleol Gursg 6o

Tl ?
(A)

©)

Mode

P&

Geometric Mean
Qumsse syrad

(B) Arithmetic Mean
gl (h& erra
U Median
@eoL_Hlene

Out of all measures of dispersion, the easiest one to calculate 1s:
fgped setencuseildr sasdlHaushe aeflgrer g arene a7g) ?

(A)

(€)

Standard deviation
S cllevssid

Variance
WwrpIur(H

Range
algs

(D) Quartile deviation
&IOS eHev&EsD

117/DD/24
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16. Mean deviation is minimum when deviations are taken from:
Gareupeuanaupded  erflelmpgs  Awssnd  srambd  Gurg  syrefl Hessod

(HEDEUTETHT(&GHLD ?

(A) Mean Median
grra( @en_blenan

(C) Mode (D) Zero
0 LR wID

17.  Which one of the given measures of dispersion 1s considered best?
Qar@ssiiul_Herer Hgnad saraneusaiier Hpns Hamd enamen g ?

Standard Deviation (B) Range
Sl eflawssid ai&a:

(C) Variance (D) Coefficient of Variation
mrmum( WwrmUrC (&6 s

18. The average of the sum of square of the deviations about mean is called:
sirefleows  uwpPu  dossngealen earssmseliar smbgdler sgrefl  eraueumy

i p&sluGEng 2
M Variance (B) Absolute Deviation
wroytmH Ppipewwrar grref cllawésd
(C) Standard Deviation (D) Mean Deviation
A eflewssnd sqrefl efesswn

19. For a negatively skewed distribution, the correct relation between Mean, Median
and Mode 1is:
adlioenn Garli oere Gsrenme. ugeudselld erref, @efleoo woHnb wsE
pFlwueumhdneE Qe Cuwneanr Qg erever ?

(A) Mean = Median = Mode (B) Median < Mean < Mode
syrefl = @enLHleve = (Ppsh @eLblane < ggmefl < wpa(h
Mean < Median < Mode (D) Mode < Mean < Median
grrefl < @enLHlene < (psh wa@ < srrafl < @enfleve

117/DD/24 6



20. The Variance of first n Natural numbers is:
WPED 1 @ eramaaflen wmmLT@ ereeT?

n®+1
@) 12 (B) 12

n?-1 2n% ~1
D
N ® 2

21. In tossing three coins at a time, the probability of getting at most one head is:
PG BTERTWMIGENGET &(h (Pern SHeHibbunips FsUlFb e sme el liugHsren
Bapssey eTee ?

(A)

V.4

(B)

(D)

bo | = 00| o
W ol

22. From a pack of 52 cards, two cards are drawn at random. The probability that one is
an ace and the other is a king is:
52 fL@adr Qaraw  F(hsslgellmphg soeuminy  pepulda @l  FBaer
aRssLUBEDE. Seupdldr gam gev (ace) LG woGpram @grgr (King) §lirs
@riugharear HEpssea; eremer ?

2 1
@ 3 B)
663 169

23.  The probability that a leap year will have 53 Sundays is:
@ U apLSSle 53 @muihmis SipennseT aumeigharar Blaphosa wig) ?

1 2
@ 1 d 2
2 52
“ Dy 2=
(C) 53 ( ) 53
7 117/DD/24
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24. For Bernoulli distribution with probability p of a success and g of failure, the
relation between mean and variance that holds is:
Qaupdlésrer Hapssa p wind Caraalsara Hlabssa ¢ 2 oL w GuiGearmal ureueld
gyrem wHpb ureubHLIsE @6 Guiwirar QFTL L ereies ?

(A) Mean < Variance M Mean > Variance
grmefl < LreudLig gymafl > LiTeupLig
(C) Mean = Variance (D) Mean < Variance
srrefl = uyeubulg ggrefl < LgeuhLig

25. The Mean and Variance of a Binomial distribution are 8 and 4, respectively. Then,
P(X =1)1s equal to:

& mHOINL ureueale gnafl 8 wHmib ureasbuly 4 erafle P(X =1) e WAL ereen?

o ® -

2 24
1 1
()] 5 (D) o

26. An approximate relation between M.D. about mean and S.D. of a Normal
Distribution 1is:
Que  Heol urwde syrefl  desssdnen M.D) 4 ddeosssdbEed  (S.D)

@enL Cuuwiren Carywiorer QT iy erera?

5M.D.=485.D. (B) 4M.D.=58.D.
(€¢) 3MD.=3S8.D. (D) 3M.D.=28.D.

27. Ifn, the sample size is larger than 30, the student’s t-distribution tends to:

wrflfseian cramanfiseans n. 30—g L. sflswres QEmeebburiwg student’s t-ureue
GTEAIGHT LITGUEVITS LDMMILD ?

( Normal Distribution (B) F-Distribution
@weBlanevi LiTaued F-uyeue

(C) Cauchy Distribution (D) Chi-square Distribution
snas) LITeale & GUTESL LITaU6D

117/DD/24 8



28.

29.

30.

31.

32.

For n > 4 and n < 30, the t-distribution curve with regard to peakedness is :
wrffsellear eramefiéemws n > 4 whpmw n < 30 e Pré&Goburg student’s
t-ureueilel GUENETEY GTEIEITEUIT(ELD ?

(A) Mesokurtic (B) Platykurtic
Blweag e BlensssL e
W Leptokurtic (D) Bi-modal
G@PSHB L B a6 2@Lws|

The shape of Chi-square distribution curve for d.f. 1 or 2 is:
SLigEmenDll Uy 1 Sehedg) 2 2anlil s eufdsls Ljeuallan euigeud erener?

(A) a Parabola M Hyperbola
(5 LITeEneruLd @ &l LITeueneTLD
(C) a J-shaped curve (D) a Bell-shaped curve
J-algeud 2 el g wentl Guigeud 2 L Wwig)

The skewness of a binomial distribution will be zero if;
mHoIULY ureualia GariL gdlar wdliy ysheluib erafld:

® p>3

1
2
1
Mng D) p<q

In 1933, The theory of testing of hypotheses was propounded by:
1933 b ar® earHCarer Carganar uhHlw Caruriianer (pemeneusseuT

(A) R.A. Fisher (B) J.Neyman
R.A. Qégagi J. Gpien

(©) EL.Lehman \)B( Karl Pearson
E.L. Geowmerr &med \Susirgesm

The range of statistic z* is:
2o oSsa

(A) -1lto+1l (B) —owto+

W()tooo D) O0tol

9 117/DD/24
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33.

34.

35.

36.

317.

If p=1, the angle between the two lines of regressions 1s:
p=1eaaile, @m 2 Lar Qgr_i CaraEssE @ Uul . Gamemrid

 Zero degree (B) Ninty degree
LpsRebluiib Qg rerenmm
(C) Sixty degree (D) Thirty degree
SIDLG PpLigl

Regression coefficient is independent of :
o i g Qgriiy GursEsELspeunerg srrubHDg)

Origin (B) Scale
2 Fuled SiereliLig e
(C) Both Origin and Scale (D) Neither Origin, Nor Scale
<8 wHmID HeTeSH &) TekTiqa b Sl Edene, BeTa|b @eeane

If the two lines of regression are perpendicular to each other, the relation between
the two regression coefficient is:

@ oLan Qsriiy Carfadr gamsbaray Gsugss aeflld, Gm o Lar Qg,m_rrqas
Caml H&sbspssErsE @ Cuuirer QgrLiy eermer?

@A) By =Pur A iy =1
(C)  Pyx < Bxy (D) Byx = Bxy

If Var(X +Y) = Var(X) + Var(Y) , then the value of correlation coefficient r,, is:
Var(X +Y) = Var(X) + Var(Y) aaflé. @l Bneys Qaupeiien r, gl ererar?

o ® 1

© -1 (D) 0.5

If Var(X +Y)=Var(X - Y), then the correlation between X and Y is equal to:

Var(X +Y)=Var(X -Y) ealle, X, Y &5 Qe Cuurar U Hpes Csgpedar wdliy
GTelTer ?

A 1 (B)

.2

1
2
© 0

|

117/DD/24 10



38.

39.

40.

41].

42.

Degrees of freedom for Chi-square in case of contingency table of order (4 x 3) are:
4 x 3) aflews Qarar s afésl ugald Gaiaylulgwellea &lgerawbliuigsefler
erenTent&eng erene ?

a) 12 (B)

9
© 8 U 6

A Cyclist pedals from his house to his college at a speed of 10 km.p.h. and back from

the college to his house at 15 km.p.h. Find the average speed?

et gag  OHaarguie SUydlmhg soanisag 10 &.b/weefl Ceasgdai,

5@0@[{@@6&@({5@1 ailighE 15 H.b/vwenll Ceussdeyn Cewdpri eafled euflar symed
Geugld erémen ?

M 12.0 km.p.h. (B) 12.5 km.p.h.
12.0 &5/ 1newf 12.5 &5/ wenfl

(C) 13.0km.p.h. (D) 14.0 km.p.h.
13.0 4.5/ wenfl 14.0 &..5/ nemfl

The limits for Karl Pearson’s coefficient of skewness are:
sroQurger Carl L &0speilen cTaencrseT eTesen ?

@A *1 (B) +2
+3 (D) +4

The point of intersection of the “Less than” and “More than” ogive corresponds to:
@@ ureuaer Eflar euer wHML Coelar auart peanscusar Heul b Lyerafl ?

(A) The Mean \ sp" [he Median
gymegf GeoLHlene

(™ The Geometric Mean (D) The Mode
Qumssd Frme W@

A single letter is selected at random from the word “PROBABILITY” the probability
that it 1s a vowel 1s :

“PROBABILITY” eretip  eunigengulled(mbg swaimiy apepuldld omm  epés
Casrp@shisaiubhdng. GCasrmbshissiulL  eawss wWdnuwssrts QEuusherer

Bl&pssa] ereme ?

13 2
@ = ® =
4
o D 0
11 117/DD/24
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43. The Mean of Poisson variate is :
Lmdigren Lireuedlen grmedi?

(A) greater than i1tf’s variance (B) less than it’s variance
ureupLigenw el idlab LreupLigew bl Harmea]
equal to 1t’s variance (D) twice, it’s variance
LreupUI&S@E FOLD ureupLilg GUreTm @)(HLoL ki

44. Two random variable X and Y are said to be independent if :
X womb Y ereruar @b #ifrunp sweumiiy wrhaer erefle 2

(A) EXY)=1 w (B) EXY)=0
EXY)=1 EXY)=0
EXY) = E(X) E(Y) (D) E(XY) = any constant value
EXY) = E(X) E(Y) EXY) = gGaaib @ wrhled

45.  The Points of inflections of Normal N (m, ¢2) curve are :
\@y@bﬁmmu ureuellen N (m, o2) euenerey WMHOHL LieTFeflEeT 2
mztoc (B) mz*2c

€ m+3c D) mi%c

46. If Xis a random variable, E(e**) is known as:
X ereugy) sweurmiiiy wrd erafld E(e?) eramLig) erear ?
(A) Characteristic Function
ApLi@wudyF sy
Moment Generating Function
AlewsslIQUERSESLsTME 2 (HeuTsED FiiL|
(C) Probability Generating Function
Plapsaa) WUnrGa@n gy
(D) Probability Density Function
flapsse] i _eHléE sy

47. If A and B are two events, the probability of oecurrence of either A or Bis given as :
A opmn B earuar gGsaud @@ Hapsflsdar aaflld, A sdeg B Hspegpsnea
Blahsne eerug ?

@  Pa)-P(B) G P(4UB)

(C) P(AnB) (D) P(A). P(B)

117/DD/24 12



48.

49.

al.

52.

The Mean of Chi-square distribution with n d.f. is:
n sl igeenloll Uy Qaneai enseuas Lgeuddlen grrefl eremer
(A)  2n (B) n?

© n 7 n

The standard normal distribution is represented by:
L @ueblencols Ljeuamang aeueumm GHSsILGE D ?
(&)  N(,0) B N1)
W7 N0 (D) N(,0)

The B,value of Normal Distribution is:
udblenel: Lieuaies f,er gl erebrer?

& 53 ® f -2

© p=1 D) £ =0

Who is the William S. Gosset?
efléballwib erav. Cammavel ereLGuT W ?

M Pioneer of Student “t” test
wraweu “t” ywieller (penGenimig.

(B) Pioneer of Chi-Square Distribution
L&ms amaeuirss Cergenaruilen (perGarmi.

(C) Pioneer of “F” test
“F’ ufiGenganaullen (perGamrig.

(D) Pioneer of “Z” test
‘2" unCGergemanuiien (pemGanigy

Sample space is denoted as
gam Lerell ereueumm enwpliig ?

4 H B T

w S D H,T

13
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53. In practice most commonly using the level of significance are
- Quirgeurs penLpenpuied LLETUHESLLRID Wens sra Hlene g ?
A 1% B) 5%
1% 5%
C) 10% 5% and 1%
10% 5% womitd 1%
54. In Bar diagram, the bars are
Ll el eflardsiiuL gléd Ll el &6 ereusauny euenTuiliuBEmg) ?
(A) Circular Rectangles
QUL L @llg &y OFeiaisalg.6uD
(C) Verticals (D) Square
&t GSETE F&| Ul &ULD

55. A curve is flatter than normal curve is called
euener euenrelled Guisvy Fleneens eHl sL L wTs @HBESTD TN NP WPILF) ?

(A) Leplokurtic Curve (B) Mode
GPDSSL DL 0

(C) Normal Curve Platykurtic Curve
@webry Flane Hemassg enL

56. The Degree of Pie diagram is
el L eflerssiiuL glen CarerTd erg)?
(A) 90° (B) 140°
(C) 180° 27 360°

57. What is the another name of the Karl Pearson correlation co-efficient?
grired Qungafler @l hpey Qapeilhe wH@prep AUk ererer ?
M Product moment correlation co-efficient
fewssdLmsE el Hpa s baup
(B) Rank correlation co-efficient
eauflens U Hpeystsp
(C)  Error of correlation co-efficient
U OpaysQdapians
(D) Positive correlation
Wens gL Hmay

117/DD/24 14



58. Data classified as height, weight, age, income, production is called as:
STEMET DIETEYHERE@E SEFEUTN 2 Wrh, rel, 6Uug, euepTeand, o Husd pdw
FTeYEHENET Bilq LNt WT&EE Caram euensliLi(hSgeush@ Cuwim eremern?

(A) Chronological Classification
STODFTT alenslL(hsgHe)

(B) Spatial Classification
@LbeTT euaslU(HSHISeD

(C)  Qualitative Classification
LIGBRTLFMT euensiL (HEFHIS6

y Quantitative Classification
2eraller euifleuensLiLi(hidsise

59.  Sum of the values divided by the number of values in the set 1s called
sreysafler erdar o plilsmearybd Fmlly g mlyseiler aareisamsund @GS

HepL_LiLg) eTg)?
o7 Mean (B) Median

Fyma] @enL_Hlencowteray
(C) Mode (D) Range

Gsh eiga

60. Symbol of an Autosum in MS-Excel
awsGrremiligd o CLrsb Uk erg ?

W’ ® X

(O D) =

61. In a Random Experiment the probability of occurrence of “E” 1s defined as
e aGsims LAGsTsmanie “E” flapaugpsrer Hlapssa) ag?

_nlE) _n(s)
v P(E)= 15 ® PE)-1

{
©  PE)-T (D) P(¢):§%

15 117/DD/24
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62.

63.

64.

65.

66.

The probability of impossible event is
Bapgseia fapns flapey oz ?

(A4)
©

o

1
1
= D) -1to+1
5 D) -1to

Find out the mode of the given data 12, 5, 11, 8, 10, 11, 5, 9, 11, 10
EpsansunBled(mhg pak srars 12, 5, 11, 8, 10,11, 5, 9, 11, 10

A) 5 B) 10
11 D) 12

Find out the mean from a set of data given below:

68, 70, 72, 74 and 76
Spsar_ sresalalmba srmeflaw sar@9yssan 68, 70, 72, 74 wpob 76

W 568 (B) 70

€ "2 (D) 74

The error accepting Ho when Hyis true is called:
Papssele gnpéQardaeriiu L Geny Ho erafier. Ho &l erar smgnCurg epgsliGeny
SGE

\W/ Type I Error (B) Type II Exror
(PED cuans Yenip @reT_nd euems G
(C) Third Kind Error (D) Fourth Kind Error
gpeTmmDd euans Glenip BTET&TD euend HenLp

For right tailed test with 1% level of significance, the critical value of “Z” will be:
g ¢peven wHy SHHCETET Siorallagn aome aurbld Was srar wduy 1%
arafiey “Z” eremen?

(A) 2.58 \15( 2.33

(C) -2.33 D) 1.96

117/DD/24 16



A

67.

68.

69.

70.

o the probability of Type I Error is known as
a flapgsaia (s euens U ereualmm e pULIg) ?
The level of significance of test
Wlens arer Hlanew
(B) Alternative Hypothesis
wrHn spsCare
{C) Null Hypothesis
Gleteno s(mg Gamed

(D) Alternative Composite Hypothesis
anll(p urm SHaGsTe

Who is rightly termed as “The Father of Statistics”?
yereflwedelr shang erenmenipdesUts(eul wimi?

(A) James Bernouli (B) Karl Pearson
Cegwev Guifllenmedl srréy Swiigen
Sir Ronald A. Fisher (D) Sir William Petty
& Qrrestred(H & oo flag® & efevedluid G ig

Who introduced the design of experiments in Agriculture in India?
@rHu Cauarrairenwls LNGsTsmen (pgdid G eIMOESEUT WITT

(A) C.R.Rao \Q/J.N. Srivastava

C.R. qmeu J.N. ufeucvgeur
(C) S.N. Roy (D) Parthasarathy
S.N. gmi LImTgSETTE

The two independent parameters of the Binomial Distribution 1s
FHOILY LTeuealld sTrubm @ e LemUeTaneuseEr eTensy ?

(A) pandq nand p
(C) pg™” (D) pgn

17 117/DD/24
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71.  Which distribution may be successfully employed to find out the numbers of printing

mistakes of each page of the book?
@ AFH_LULL. Ussasdd oater Lsasdd sramLupb Yepsellen eameaniisansenul
setrL M erhgiLTeled 2 se dlma) ?
(A) Binomial Distribution

FROBAYCILILY LITEUED
(B) Normal Distribution

weBleney LT
Poisson Distribution
LIMUETET LITeU6)

(D) Multinomial Distribution
pefleney @Luwigerey LITEUeD

72.  In which vear was declared as “The World Statistics Year™?
THS e 2es LeTafluded e e fleSissliu L g7
(A) 2007 (B) 2010
W’ 2013 (D) 2015

73.  Which organization is responsible for collection of Socio-Economic survey in India?
Cadlu melld wésallar saps QurEmerTsTrs semsbshiul] Gopblsratend ey

6T ?

(A) Central Statistical Organization
sHl Lerefiulwies igiaiesio
National Sample Survey Office
Caflw wrdfl searsCaniiy Hmeiard

(C) National Statistical Commission
Gasdflw yeraflulwed ienwotiy

(D) Indian Institute of Statistics
@pdw yearafludwe Hlipeuerid
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74.

75.

76.

In which each unit of population has an equal chance of being included in the
selection of each sampling?

wrdfl Csirey Qeniwtiu@io Curg gdGeunm wrdfluyb CasiblsBlusHE @ FoWTET
BEpe| GUmEIS eTeueuTm) Sapeg) ?

Simple Random Sampling Method
ereflw eumiitiy | sewflioy wrdflapenn
(B) Stratified Random Sampling Method
u@sens eumiiiy wrdHf sesfliiy apasp
(C) Purposive Sampling Method
CrrsasCsonh eumiiy wrdfl seflliy e
(D) Systematic Sampling Method
wenpenihs wrdfl seflly (perm

Variance of the Chi-square Distribution is
DL &S &euiTas Cergenamuller LIMILTLE NeTene cTETaT ?

(A) n 2n
(C) n-2 (D) (1-2t)™

Multivariate statistics exits only when the number of variables to be studied
simultaneously is:
uosrt orilseldr @am oog sHE Gopull wrdl Gy Gersda wrdsefler
aramenilseams —————— @NHEEGD.
(A) At least five

GDHSE BB
(B) Three or more

epeTny DG FHE@ Gupul L

Two or more

Gran® Siwag zHe Cropu

(D) In any number
T GTaRTemtgyi
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77.  Multiple variables are said to be multivariate random variables if they follow:
e wrflsd Gesmeumeuareupiier Werupiearme Lwert wrhladr orar HePsstiubhieug)

(A) Law of large numbers
Guflu eramaefian el

Some probability distribution
oo Hlapsse LTald

(C) Law of inertia
Hlencvenio

(D) Central limit theorem
wsHwu eurbL GCaHmb

78.  Which one of the method is not a primary data collection method?

SpsaaL papseilds (psaTemns FTeysET e SHBUILIL TS (Ponseild ey ?
(A) Questionnaire method

GHlerTuLl g We (penm ppeid

Data collected from published sources

QeueflllLiul L greysafley Gumieug epevd
(C) Local correspondent method

2 dr@pt Ggmfy&eT epeoth

(D) Indirect investigation
OOMPS LOSTTUIE] PLPEOLD

79. In Mahalanobis approach, the sample points are more likely distributed about the
center of
wGanmGarday eigm@weanuled, Hepllar ebwusddmbg urmorer wrdfl Ldrafiser

(A) of a sphere (B) of a parabola
7 Gamarid LIJGUEDET LD
M of a ellipsoid (D) of a cube
Beraul b S FFTD

80. If all the p-variables are independent, then the variance — covariance matrix will be:

Swarsg P wrls@sn sniubm @) w6, Gearory ———— <& QHEGD.
(A) a unit matrix M a diagonal matrix

G 3 enfl fLp@mEvEUL L <ami]
(C) anull matrix (D) aninverse matrix

LpgpeRlu <oimi] s el
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81. The variance of principle components during the process varies:
Qewudpapuier Gurg Syl spisaiier wIQUTH ——————— papuied Q(HESD.

(A) In descending order
@i eufensuiled

(C) In equal proportion
g0 eufienguiled

(D) In haphazard manner
Gpuurer apanmulled

82. Factor analysis is a technique in which the observed variables are experssed in
terms of:
sryenfl LGUUTUG eerug @ HILUWLMED, @dd saualssiuc. wrdsdr Gemeumorm
SianpssiLbhidng)
(A) A factor
(1% Sriyemt

Linear combinations of factors
srrealsetien Crilwud GCarsensser

(C) Correlations

gLbe

(D) Distances
ST TRISET

83. is the father of mental tests.

o arEGargameruilen sheng eTemm SeLP&HEILHLGT

(A) R.A. Fisher (B) Croxton and Cowden
R.A. S 9egi fyrsevL e wHmb CQserL e

M Francis Galton (D) A.L. Bowley

lyrerdlen seem A.L. Queredl
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84.  Each cluster in cluster analysis contains:
eravl M U@L eubleumm &erevLit

a few similar objects
Hev sy Cumplser

(B) a few similar variables
Sev wrdlaer

(C) a few similar factors
$eo sniyentlger

(D) a few similar functions
fe Qewdur@ser

85.  The first census report of India was published in
@ndurelléd wpaed wisar Caras ifisams deuefludl UL &R

(A) 1858 qaf 1848

(C) 1948 _ (D) 1958

86. If Xis a random variable and its pdf is f(x) and E(1/X) is used to find:
X ererug sweumitiy wrft wHnIb Sigen Hspsse; iLrsd iy flx) wpmb E(1/X)
sarLHlul uweuhdpg.

(A) Arithmetic mean M Harmonic mean
gl (hermed @ens gyna

(C) Geometric mean (D) First central moment
Qupée eyred PSP GOIDLI FITL

87. Laplace distribution curve with regard to peakedness 1s:
2 55 Hlenoverw GUmBSSeuenT @mliewrey @uid Hlee UTeud euamee] 45

Bm&@h.

More peaked than normal
Guoenu el =ifls 2 Fabd

(B) Less peaked than normal
Glweenu el @epmeurar 2 &b

(C) Adequately peaked
@udeu 8l Gurgwrean o F&ib

(D) Depends on the values of its parameter
(PG el FMTL| 2 F&D
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88.

89.

90.

91.

2.

The distribution function of a continuous uniform distribution of a variance X lying
in the interval (a, b) 1s:

(a, b) ey @ Qeaefibiie @iy Qgriredflurer &Frrar Lyeusd Fwemily wmh X
@(EHSTED, LroUTE () aTana

@ Yo a) G (K-a)/o-a)
) (p-a)(X-a) (D) (X-b)/(b-a)

The shape of chi-square distribution curve for »* with d.f. 1 or 2 is:
& -l smi Ureue) eueaneTaleny 1 OOF 2 euanTbHm LTensule

(A) aparabola
LITaUeneTuILh

\% a hyperbola

=g UTeueneTWD
(C) a dJ-shaped curve
J-auqer auanetay
(D) a bell shaped curve

wenfl quigel cuaneTay

A random variable has uniform distribution over the interval [1, 3]. The distribution

has variance equal to:
sweuriuy wrdlullesr Frrar Lreued (1, 3) aerm @en_Geuafiullds wrMIUTLH <eaTeneu

A) 85 &7 413

(C) 13/4 (D) 972

To create a blank workbook, press the shortcut keys .

GQeupmy workbook-2 (peurés shortcut key & =i Ceuarr@ib.
(A) Ctrl+0 & Ctrl + N
(C) Ctrl+P (D) Ctrl+S

What is the intersection of a column and a row on a worksheet called?
e WORKSHEET @ san (1) aiflesuien gmé@tbeul () ereusurn sianpsslinidmng ?

(A) Column (B) Value
A Heuflens O
(C)  Address 7~ Cell
wpaeufl &
23 117/DD/24
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93. What type of chart is useful for comparing values over categories?
aumasgrafler Bg wHliysmer pLld(egsnE ehs euamawnear alaT&slILL h LWUGIETTSNE

BEEED
\/ Piechart (B) Column chart

enL eNeTdasLILIL b Gpheifens eflardasliuiL b
(C) Line chart (D) Dot chart
eufl elleTdasiLLb yerafl eflerda L.

94. Which one is not a function in MS Excel?
Epasar_apmear MS Excel-& @darg Qewudun® og ?

(A) SUM \jﬂ( AVG

(€) MAX (D) MIN

95. In Excel, Columns are labelled as
Excel-é s (Columns) eréueummy QUi ® @hléstiu@dpg: 2

W A B,C,etc B) 1,2 3, etc
(C) Al, A2, etc (D) $A$1, $A$2, ete

96. An option of keeping certain cells visible/lock while scrolling is called:
scrolling Qe Gurg @bl Ao Gedsaer visible/lock Gawicug
aran sl EDS.

(A) Hide (B) Delete
D@ DESED EIGTA
(C) Insert M Freeze
2 grat(h Cauige 2 BMSD
97.  The cell needs to be to edit formulas.
Cell-&» @sdrmsamer F(555 Geuer (.
(A) Clicked \W Double clicked
@ o defls Ceww @ e Hafis Clewiw
(C)  Right clicked (D) Scrolled
cueg Slefls o (UL LU LG
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98. control the order in which expressions within a formula are evaluated.

QR GSE TS o drar Geuaflin e eufiensaru s QULGSS A rpar.

(A) Operators (B) References
GFwe L ser @D &er
Parentheses (D) Strings
SidLUY@GD ST F(ThIEET

99. An Excel file 1s generally called a/an:

Excel file Gurgieums a/an T B P&ELILRE D).
(A) E-Spreadsheet (B) Worksheet
B cHlf e L6l S meT
Workbook (D) Sheet
verflLggeD STei

100. Which function tells how many numeric entries are there?
aThg QELIOUT(H cTdsamar eTeiT 2 GTaTHIGET 2 eTaTan eramiass: Fmmnidlng; ?

@) NUM @ COUNT

(C) SUM (D) CHKNUM
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